REW

&

%

Bz

7L E#Es

gbb60166




HEZKHLZ L

—--10----__
*EBFDEBRZRDET,
r?+ (y—10)? = 10°
! Fuiy (0, 10) 2 2
10| ¥&100H (y—10)° = 100—=
L2TE N y—10 = =+1/100—x2
y = £4/100—x2410

iRl y=—1/100—x2+10

gbb60166 PA T s



HEZKHLZ L

&oT

jjoﬂ—\/lOO—ﬂrz+10)dw

R0 B,

| fui (0, 10)
10| ¥®E100MH
O—E N\

gbb60166 PA T s




HEZKHLZ L

jiOC—\/10O—ﬂB1+1O)dw
10
— _f(l)O\/100—m2 d:c—l—fo 10 dx
10
_ —f(l)ox/100—w2da:—|—10f0 da

PIHTHELET,

gbb60166 PAZ=E 2



£9%30 10/, d=x

10

10 | dz = 10 [z],

= 10(10—0)
100

gbb60166 PAZ=E 2




RICED — [°/100—z2dx Z5tE
r=10sin0 (-2<0<7) EEWTEBRTEDI B,
Z—Cg:l() cos@ DT dr=10cos0dl &35,

Xlxho—o10DEZ 0 1T 0—>g E1IxBDT
10
_fo /100 — 22 dx

— [ 2\/100— (10500 6)2 -10 cos 6 df

— [ 21/100—1005in 0 -10 cos 0 d6

ghb60166 7L EHER



RICHTD — [°/100—z2dx %

— [ 21/100—1005in 6 -10 cos 0 d6

= —foz \/100 (]. —Sin2 0) -10 cos 0 d9 sin? @+cos?0=1

_f§¢ 100 cos?6 -10cos 6 df

:—fOE\/ (1Ocos¢9)2 .10 cos 6 d@

— —fs 10 cos @ 10 cos 0 dO

gbb60166 PAZ=E 2




RICEID — [} /100—2? dx EEHE

— —fOElOcosH-lOcostH
— —f§100c0820d9

= —100]? cos? 6 do

— —100f2 1+C§S 20 40 2 ERAT CLAAXR)

100f (1+4cos 20) dO

gbb60166 PAZ=E 2




RICED — [)° /100 —2? de Z5HE

100f (1+cos 260) db

= — 50fo2 (1+cos 260) do

sin29}§
2 0

= oo ((g 4 ) osnp0))

7L E#Es

— —50 [9+

gbb60166




RICEID — [} /100—2? dx EEHE




HEZKHLZ L

ST
TCICE > T, X EB5 DERE
jjoc—\/100—ﬁn2+10)dw

= —257+100

| (0, 10)
10| ¥®E100MH
O—E N\

gbb60166 PA T



B2 RKDIEIVY  wozmucmmerscazLr: WD

T77777777777777777

= 100 2 (—257+100)
= 100 + 507 —200
50w —100 &

gbb60166 7L



https://www.google.com/search?q=鶏を割くに焉んぞ牛刀を用いん

INEEM T

https://unilab.gbb60166. jp/prekou/pdf/shushoku_
menseki_Ver4.pdf

gbb60166 PAZ=E 2



https://unilab.gbb60166.jp/prekou/pdf/shushoku_menseki_Ver4.pdf
https://unilab.gbb60166.jp/prekou/pdf/shushoku_menseki_Ver4.pdf

